Lecture 02

EUROPE AFTER THE FIRST WORLD WAR

INTRODUCTION

This lecture will consider the evolution of the European economies in the period between 1918–1929.  It will be divided into five parts:

1.
Basic chronology and overview of the period up to WW2.

2.
Legacies of the war.

4.
Case studies of Spain, France and Germany in the 1920s.

5.
International economic dislocation.

BASIC CHRONOLOGY AND OVERVIEW OF THE PERIOD UP TO WW2
1.
Post WW1, there is an attempt to return to post-war conditions against a background of:

a.
Instability and uncertainty.

b.
Declining relative position of Europe in world economy.

2.
1929-1932: Great depression: major shock to the international economy

3.
1930s:

a.
Slow and partial recovery

b.
Socialist states

c.
Fascist States

d.
International tension and uncertainty

e.
Nationalistic economic policies

4.
1937: rearmament and build up to war.

5.
WW2: Europe gets into an even worse state.
LEGACIES OF THE WAR
1.
General Points:

a.
Rise of USA and Japan.  America emerges from WW1 as the world’s largest creditor nation.  Japan emerged more industrialised and more technically proficient, supplying markets formerly enjoyed by European countries.

b.
Industrialisation process.  Not only USA and Japan: the Far East, Asia, Latin America, the White Dominions and parts of Africa (especially South Africa).  Stimulus to primary production (food and raw materials) in these countries which later caused over capacity problems in the late-1920s, early-1930s.  

c.
Relative position of Europe.  Europe does not recover her pre-1914 economic position: by 1920, the Americas account for 32.1% of world trade as against 22.4% in 1913.  Asia’s share rises from 12.1% in 1914 to 13.4% in 1920.  Europe and USSR trade falls from 58.4% to 49.2% over the same period.  

d.
Population Losses.  European population deficit was between 22 and 24 million people: i.e. 7% of Europe’s pre-war population.  In 1920, Europe’s population was about the same as it was in 1914.

e.
Capital, financial and growth loss.  

–
Capital.  Stamp estimated that Europe lost 3-4 years of normal growth of income-yielding property.  France and Belgium were the worse affected.

–
Expenditure.  War represented 6.5 times the sum of all the national debt accumulated in the world from end of the eighteenth century up to 1913.

–
Growth.  Svennilson has estimated that if there had be no war and the 1881-1913 European rate of industrial output growth had been maintained (3.25 p.a.), then the 1929 level of production would have been achieved in 1921. 

f.
Peace treaty settlements: territorial and reparations.  Germany lost a great deal, being deprived of about 13.5% of her pre-war territory.  

2.
Spain:

a.
Spain was a neutral country in the 1914-1918 war, and really stood to gain from the disorganised state of the other countries caught up in the conflict.  She did to a certain extent, as we shall see, but before long the economy began to stagnate and the political system collapsed.

b.
During the war, there was a boom-let in the Spanish economy.  At first, the early months of the war were a time of high anxiety for Spanish businessmen as they faced difficulties with obtaining raw material imports and credit for foreign trading.  But it was not long before manufacturers realised that due to the disruption of trade caused by the war, export markets were highly attractive.  Factories began recruiting skilled and unskilled employees, and new factories were erected.

c.
With the disappearance of the British, German and French competition, the Spanish were able to build up their electrical goods, engineering and vehicle industries.  Heavy industry (coal, steel, railways) saw some of the biggest benefits with the ending of foreign competition between 1914-18.  Chemical factories did well, springing up along certain Spanish provinces.

d.
Whilst financial and industrial sectors were taking advantage of a lucky break in the First World War, there was widespread criticism of the government’s limited role.  Among the biggest critics of the Spanish government were the employers’ organisations in Barcelona.  As well as demanding the halt to a bill which set out to tax excess war profits, the employers’ organisation argued to persuade the government that they should stimulate trade between Spain and her former possessions in Latin America.

3.
France:

a.
Wartime fighting caused many losses for France.  On the economic front, because much of the fighting took place in industrial regions of the country:


–
Large areas of the cotton textile industry


–
Engineering industry.


–
Coal mining industry.


–
Steel industry.


–
Agriculture.



All these industries were badly affected.



Also, France lost many of her overseas investments, as she cashed these in to pay for the war.  On the human front, France lost 1.3 million of her active male population of 13.1 million.  There were also around 390,000 people injured.

b.
Obviously, then, we can perhaps understand France’s desire to make Germany pay for this devastation.  However, there were criticisms that France was over enthusiastic about taking money off Germany, and such criticisms were heard in the negotiations at Versailles.

c.
France did gain a great economic asset: namely the territorial gain of Alsace-Lorraine.  This gave France an additional steel industry, coal mines and some textile factories.

4.
Germany:

a.
Germany shared with Austria-Hungary the distinction of having the highest absolute loss of population in 1919.  

b.
While she lost few domestic assets, most of her foreign assets were either sold or seized.

c.
Inflation was one of the most worrying legacies for Germany.
CASE STUDIES OF FRANCE, GERMANY AND SPAIN IN THE 1920s
France:
 1.
The major problem facing France after 1918 was the problem of inflation.  This was not so severe as German inflation after the war, but the French inflation problem was worse than that facing Britain.  As inflation grew after the war, there was a ‘flight of capital’ from France.

2..
When the USA entered the War in 1917, she agreed to help support the value of the franc which had been failing for some time.  After 1919 though, the USA withdrew from supporting the value of the franc, and the French currency virtually collapsed.


As France printed more money between 1921 and 1924, there was renewed inflation and the value of the currency fell further.  But as the value of the franc fell, it did mean that France could export more goods.  The benefits of more exports from a cheap currency were contrasted with the social and political problems of higher inflation.

3.
In July 1926, confidence with the franc grew, with the return of Poincaré to office.  The value of the franc stabilised at something like 20 per cent of its pre-war value.  This meant that France had an undervalued exchange rate, which would mean that she could export more goods.  


Many other countries (Germany, Britain, USA) were trying to stabilise their currencies post-1919 at pre-1914 rates.  Rather than allowing inflation to go hand-in-hand with the effects of a cheap currency, Britain in particular tried to control prices (known as deflation).


Once the franc was stabilised after 1926, the Bank of France began to attract foreign currency, which it then converted to gold.  By the early 1930s, France had accumulated more gold than any other West European nation.

4.
Turning to a more general assessment of the economic situation in France during the 1920s we can make the following observations:


a.
The 1920s were, on balance, a decade of relative boom for the French economy.


b.
Growth was most pronounced in the new industries (which we will examine in a little while) and in exports (textiles, clothing and luxury items, iron and steel).


c.
Tourism grew.


d.
Industrial production grew faster than anywhere else in Western Europe.


e.
The economy grew by 4.4 per cent per annum between 1922-29.

5.
These were a major factor in France’s success during the 1920s.  The new industries were associated with new products and new methods of production and marketing.  New industries for France in the 1920s:


a.
Motor Industry.  Three major companies dominated in the 1920s: Renault, Peugeot and Citroën.


b.
Chemicals, pharmaceuticals and dyestuffs.


c.
Coal mines of northern France began to use new techniques.


d.
Steel production (particularly in Alsace-Lorraine grew), so that by 1929, France had doubled its steel output.

6.
Agriculture in France during the 1920s:


a.
It remained the largest industry.  In 1911, 42 per cent of the active population was agricultural.  By 1936, the proportion had fallen to 36 per cent.


b.
Throughout the inter-war years, people were leaving the French land.  Estimates suggest that the rate of people leaving was twice as great in 1920-40 as in the 1892-1912 period.


c.
The loss of the rural labour force could have presented France with serious problems as French agriculture was traditionally characterised by low productivity, inefficient machines, and low output.  However, productivity grew in French agriculture in the 1920s as the decade progressed.  By the end of the 1920s, the same volume of output was being produced as there had been in 1870, but with fewer people.


d.
Peasants were renowned among the French for their ability to save money.  As long as French peasants put their savings into the banks, the banking system could then use these savings to lend to borrowers.  This is what is known as credit banking.  By the late-1920s, credit banking had advanced by 300 per cent.

7.
Population and labour:


a.
The population of France after 1918 was much older than before 1914.  With a falling birth rate in France during the inter-war years, population growth was maintained by a declining mortality rate and some immigration.


b.
Procreation was encouraged during the media in France in the inter-war years.  From as early as 1920, sales of contraceptives were restricted.  Abortion was outlawed for all but the most serious medical cases.


c.
The labour shortages were met by immigration.  Around 2 million migrants entered France during the 1920s – Italy and Poland providing fifty per cent of these.  The Polish immigrants specialised as coalminers, the majority of the other immigrants found work in agriculture.


Labour shortages were not really a major problem for France though.  Rather, slow population growth had an effect on the amount of goods bought and sold in France.

Germany:
1.
With the industrial losses of Silesia, Lorraine and the Saar, coupled to the collapse of German trade, the shortage of capital, and the great inflation, the years 1919 to 1924 were not happy ones for the German economy.  

2.
With the stabilisation of the German mark in 1923 and the Dawes Plan of 1924, the Germany economy expanded until 1928, although Overy has suggested that the recovery disguised many structural weaknesses.  

3.
Yet reparations were paid promptly, and Germany adopted American production techniques.  In the later 1920s, German manufacturing underwent a vigorous expansion with the growth in big business particularly prominent.

4.
Although between 1924 and 1928 real wages were increased, Germany’s large agricultural sector saw low income.  Throughout the 1920s, agriculture was mostly depressed.  Agriculture was the one weak spot in the German economy after 1924, due to the failure of farm prices to rise as quickly as manufacturer’s price.

5.
There were high returns in Germany (US interest rates were low), and Germany wanted to borrow money.  Foreigners placed shares in domestic firms in Germany, and German banks lent to business on a long-term (10 year) basis.  Money was obtained short-term from the United States.  Between 1924 and 1930, Germany borrowed twice as much money as was necessary to pay reparations, and by 1927 American financial houses were becoming concerned with lending projects that German firms were undertaking.  We will see next week how this then led to the full-scale pull-out of German investment, and was a major contributory factor to the 1929 Wall Street Crash.

Spain:
1.
It was not long after the 1914-18 conflict when contemporary commentators began to be-moan Spain’s lack of industrial capacity.  She had limited quantities of locomotives, turbines, dynamos, special steels, aeroplanes – none of the items to wage war.

2.
In particular, economic historians could begin to identify what were the fundamental causes of Spain’s industrial retardation.  These included:


a.
Low population density;


b.
History of political disturbances;


c.
Lack of technical education;


d.
Inadequate support from the Bank of Spain;


e.
Poor roads and railways;


f.
Government disinterest in doing anything practical about the situation.

3.
The belief that Spain was squandering vital opportunities to take advantage of the war-time situation came to a peak in 1916-18, with a sustained media campaign, and a number of highly charged public meetings.  Yet whilst speakers at such rallies, and writers in the newspapers, complained loudly about the inadequacies of the Spanish government, it was not until the late-1920s that the first move to improve the infrastructure (roads and railways) occurred, and attempts to break-up the uneconomic states of Southern Spain were postponed until the 2nd Republic of the 1930s.

4.
A big problem for the Spanish government in the decade after World War One was the constant rise in public expenditure.  The total sham of the government’s taxation policy meant many people were escaping paying tax to the government.  So, the government raised taxes and introduced new taxes.

5.
What accounted for the rapid rise in public expenditure ?


a.
Escalation of costs of military operations in Morocco (biggest cost);


b.
Inflation of salaries of both armed forces and Civil Service;


c.
Government loans to near bankrupt railway companies;


d.
Interest repayments on government debt.

6.
In the period 1916-21, there were three initiatives undertaken by the Spanish Government:


a.
(1916) Plan to carry out a ten year programme of public works, naval, military and cultural expenditure.



Unfortunately, the government suggested that trade and industry should pay for this programme out of excess war profits.  This went down very badly and was rejected by many industrialists.


b.
(1918) Scheme to revitalise the dilapidated railway network.  The new post-war political economy cried out for transportation improvements and new rolling-stock was deemed essential for this.


c.
(1918) Arguments for the adoption of the Gold Standard.  The argument was that if Spain’s currency was tied to the GS, it would be easier to seek funds from abroad, to redevelop the Spanish economy.


The above initiatives failed to take-off.  This was caused by the social unrest which was occurring in the country-side, when demands for higher wages among the agricultural labour force resulted in waves of strikes.  From 1919, there were damaging strikes in leading industrial centres of Spain.

7.
The industrial unrest and social turbulence of the early 1920s resulted in a dictatorship being imposed on the Spanish people in September, 1923.  We can divide the 1920s into two main phases:


a.
1923-25 = phase whereby the aim was to re-establish social order.


b.
1925-30 = interventionist measures were pursued to foster economic prosperity.

8.
The main aim of the dictatorship appeared the urgent priority of increasing national income.  To achieve this goal, the regime pursued two main policies:


a.
Agricultural improvements;


b.
Industrial policy, so as to increase foreign trade.


We also need to consider taxation policy and Monetary/Interest Rate/Exchange Rate Policy

9.
Agricultural policy:


a.
It was hoped that by transferring resources from low-yielding cereal growing to profitable livestock farming, output on Spanish farms would improve.  Unfortunately, inefficient wheat-farmers gained from the new dictatorship, and the fruit-growers gained little.


b.
Two main areas of country-side intervention:



–
Irrigation (inflationary costs);



–
Repopulating the countryside (bad land).



Both failed.

10.
Industrial policy:


a.
Principle objective was to stimulate domestic production via raising tariffs protection against out-side competition.


b.
Administration could have encouraged rural spending by increasing peasant incomes – instead it preferred highest tariff protection in the world.


c.
Call to the banks to aid industry –> road building did well – number of cars and lorries rose.  Electricity benefited greatly.  Woollen industry – left on its own – ‘abandoned’.

11.
Taxation Policy:


a.
Suggestions that a rural property register should be kept and an attempt to prevent the concealment for tax purposes of landed wealth.  Neither measure put into practice as vehement opposition from landowners.


b.
Instead, modest reform of the tax system:



–
Increase in existing land tax;



–
Stiffer inheritance tax;



–
New stamp tax.

12.
Monetary/Interest Rate/Exchange Rate Policy:


a.
The value of the peseta rose from 1924-1927.  This was due to a military victory in Morocco in 1925, plus sharp increase in wine sales to France.


b.
From 1927, Spain’s balance of trade improved further as:


–
Orange exports rose;


–
Fall in international price of raw cotton;


–
Drop in coal imports from Britain.

INTERNATIONAL ECONOMIC DISLOCATION
1.
During the inter-war years, international economic relations passed through a period of intense, unpredictable dislocation and disorder.  This dislocation can be analysed under two main heads:

–
Tariffs, war debts and reparations.

–
Price and exchange rate fluctuations.

2.
Tariffs, War Debts and Reparations


The Treaty of Versailles had created new nations, and these nations then created more complex systems of tariffs than ever before.  Why?

a.
Nationalistic ambition to promote industrial developments for home markets.

b.
Strategic considerations which encouraged the building up of certain industries that might be important in any future war.

3.
Exchange Fluctuations/Price Fluctuations

a.
There were problems throughout the period in Austria and Germany with widely fluctuating exchange rates.


b.
The response of policy-makers of the time also made the situation much more difficult.  In contrast to the negotiated settlement following the second world war, the process of currency stabilization in the 1920s was little short of chaotic.  There was no systematic plan to stabilise currencies simultaneously and insufficient attention was paid to the vast changes which had taken place in world finance and world economic conditions through the period 1914-23.  In practice currency stabilization was a long-drawn out affair, with countries acting independently of one another by stabilizing their exchange rates at different times throughout the 1920s as and when it best suited their individual needs.  This usually meant when they had managed to regain control of their domestic financial systems.  Only limited recognition was given to the relative shift in costs and prices which had taken place since 1914 when selecting a new exchange rate.  The chief aim was to choose a rate that was felt to be defensible, though even this was disregarded when questions of prestige or honour were at stake, as in the British and Italian cases.


